0001845544518999

lo—O NEEHXY 06— —>

2014 4 pgEEER 25 3 [
3| ko [ | oHEELITAICZ I,
(HDo0<H< = 4 Y¥BLE, sin0+2sinfcosf+3cos?O DEAH M, BMEm & KDBE (M, m) =

(247, 3)
(2)E i%* Tt zpomEkese [ ] /5;/23 ;n;f
3)0as3d3eddLE, f lz(x—a)|dx DBKEM &, ThEEZD aDEizRkDDL (M, a) =
L (27, 3)
(1) sin B+ 25inBcos@ + 3cos’8 = /‘;05»219 P /—;w:z&

n

. T
JZsin(20+7

n

Sinz20 + cos 20 + 2 (@”
o

Mz 2eE, m= 3 (M m)= (2rfT, 3)

(2) ,8“:4—}9“+§1+$3+ -+ﬁ, LHCE.
[ o _ £ L 2 n-!

L FOE Fopror g
Zo-F4 (b ) i
78 = 7 (sc g g

Y N ﬁf""_,f:z
R +/z,'3(¢) 4n
. ~ 7 2nt4
CAET T g
/8133 ’nt+ 4

LB r(lh 27 (a= o0 :rf)

{(M.0)=(27.3)




